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Al

Excel
Visual Basic
Visual Basic
51
Cf.A1
Pws(td) kPa & (2.7)
Pis(td) kPa (2.8)
Pw(p,td,tw) kPa & (2.7~8)(2.26)
Xs(p,td) kg/kgDA & (2.10)(2.26)
X(p,td,tw) kg/kgDA & (2.10)(2.26)
V(p,td,tw) m3/kgDA & (2.12)(2.27)
6-1 | Va(p,td) m3/kg (2.24a)
H(p,td,tw) kJ/(kg K) & (2.14)(2.28)
W (p,td,tw) [ 1] & (2.16)
@ (p,td,tw) [ 1] & (2.15)
10 | Dp(p,td,tw) & (2.23)
p [kPa], td [ 1 tw [ 1]
5.2 Derivatives
p,td,tw
11 | two (p,td,9) )
12 | twX(p,td,X) X kg/kgDA
13 | tsX(p,X) X kg/kgDA  (X>0.000 000 3)
14 | tdXtw(p,X,tw) X kg/kgDA
15 | twH(p,td,H) H kJ/(kg K)
16 | tsH(p,H) H kJ/(kg K)
17 | twV(P,td,V) \% m3/kg
17-1 tsV(p,V) \% m3/kg
18 | taVv(p,V) \% m3/kg
13 tsX(P,X)
X>0.000 000 3 kg/m3(DA)
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